Carmen Simiron

Physical Science

Dana Lee Ling

10-05-07

SC 130 Laboratory 05: Practical Midterm

Hypothesis: The mathematical relationship between the drop height and the bounce height for the ball it’s true or it exists. For the drop height of the ball is much higher or stronger in force than the bounce height of the ball. 


Procedure: I first dropped the ball at 60 cm all the way up to 200 cm and I got different measurements of the bounce height. I did this for about 8 times, and I got 7 different measurements. Two of the drop heights got the same result of measurements. I had 70 cm and 80cm that their result of measurement came out the same with 50 cm. 

Data Tables: I recorded down the measurements of the drop heights and the bounce heights 8 times. And as you can see in my data table there is more force or more weight on the drop than the bounce. The bounce is not much of a match to the drop unless there is more pressure or more force in dropping the ball.
	Drop Heights
	Bounce Heights

	60 cm
	40 cm

	70 cm
	50 cm

	80 cm
	50cm

	90 cm
	60 cm

	100 cm
	70 cm

	150 cm
	90 cm

	170 cm
	100 cm

	200 cm
	120 cm


Data Display: My graph shows how the measurements between the drop and the bounce height do not really pair up with each other. The drop height is much higher or has higher measurement than the bounce height.
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Data Analysis: 
	
	Drop and Bounce heights

	Slope 
	0.543011

	Intercept
	10.05376


Conclusion: In what I have showed in my graph and in my other tables, I know that when I put more pressure or more force on the golf ball, the drop of it will be less than the bounce of the golf ball. But since I dropped it without giving any push on the ball it goes ball it’s own weight and bounce by itself but lesser than the drop measurement. But as I was dropping and measuring the speed of the bounce I realized that two of the drops have the same measurements on the bounce heights. It showed on the graph that they were at first align, with the same measurements of drop and bounce heights, until it got higher and higher it starts to be different. 
